Alfa Romeo Challenge 2018 KANSAI Rd.3 & KYUSYU Rd.3 & KANTO Rd.5
ETCC2018 Vol.9
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Race-Class
ARCA REs /) FE2E—+

A5-MEFRE 115:46:59
Fryh-B§fE 115:57:46
2018.10. 21 XiE : Bh dI—RRRK: K54 L ERY—F v k3. 703km
B & RHIE FSA4/3— ETIL BHE BB AR km/h b7 & A" AMLEE
L B 1 1 Ef F— 156GTA A74-b-156GTA 6 10°47.702 123.490 1'44.387 5
2 2 G 1 #FBH H3 ABARTH 500 G-tech7n’ 4500 6 11'27.685 116.310 39.983 1'52.831 3
3 35 6 1 #WE =# Renault Clio Prosper Gl ioCup 6 11°29.201 116.054 41.499 1'53.505 3
4 98 3 1 ®WR BE— 156TS LubrossFlamingo156 6 11°29.953 115.928 42.251 1'52.172 6
5 32 6 2 I K& Renault Clio 75" 3 ClioCup 6 11730.949 115.761 43.247 1'52.188 6
6 38 D 1 /A &N Renault %Yt Asphalt Clio 38 6 11°42.937 113.787 55.235 1'55.363 4
7 51 D 2 FX Em Renault I-797 TLIF3rs 6 11°48.421 112.906 1'00.719 1'55.395 6
8 b8 7 1 #\X H#A VW GOLF6 EUROStage6GTI 6 11°48.804 112.845 1'01.102 1'53.635 3
9 405 G 2 WE 3hkt ABARTH 500 7" 4500 6 11'51.635 112.396 1'03.933 1'56.445 2
10 67 F 1 4S8 XAl 147TS-sele NAUTO147 » 6 12'01.307 110.889 1'13.605 1'57.422 3
1 37 A1 #AR TS Renault Megane M3L4CRS 6 12'07.644 109.923 1'19.942 1'55.311 5
12 69 9 1 % @A 147GTA-sele WING147GTA&TYALT 6 12'10.833 109.443 1'23.131 1'58.842 5
13 28 B 1 JUE BB—H ABARTH 595 300 595 #9/ 6 12°19.278 108.193 1'31.576 2'00.449 5
14 199 I 1 \¢ = ABARTH 500 LT (UR—B L AS 6 12'24.189 107.479 1'36.487 2'01.736 6
15 312 I 2 &0 % ABARTH 500 Ve leno500TCR 6 1226.524 107.143 1'38.822 2'01.659 4
16 120 [ 3 M|mE {&# ABARTH 595 nob595 6 12'28.174 106.907 1'40.472 2'01.629 2
17 93 E 1 =# =& BWW Z3 ACFrLYY 23 6 1232.818 106.247 1'45.116 2'01.828 4
18 74 H 1 #0H# E% Mito tb sports SpR3M. 4TAK - 6 12'40.389 105.189 1'52.687 2'02.940 4
19 21 [ 4 HKEG & ABARTH 500 ABARTH500 6 12°44.548 104.617 1'56.846 2'04.514 4
20 22 B 2 w&F B ABARTH 595 300 595 414"y 5 10°49.473 102.628 1 Llap 205136 2
21 47 C 1 g &E 75TS 75TS-R 2 3'57.748 112.142 4 Laps 154.584 2

95 AKE5 : 1=E-SR. 2=WA-C-0, 3 =SR2, 4 =E-SR2, 5=SC-2, 6 =SS300, 7 =S8S200. 8 =S300. 9 =AR150-1,

A=S§200, B=R300, C=HTA200, D=R200S. E=R200. F=AR200. G=AR150-2, H=AR150-7, I=AR150-8
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